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MegsE2H
2| A HE] 2022 (Bt - M3
B8 red/s 20224 2021 H R3Sz H|D
A4 18,905,605 21,996,240 A 3,090,635
600 At 18,905,605 21,996,240 A 3,090,635
R bl 18,905,605 21,996,240 A 3,090,635
623 CHAAL =2 15,295,779 20,441,805 A 5,146,026
623-01 2| gte[H[5=2 15,295,779 20,441,805 A 5,146,026
O /=9 d7t=ah 8,016,408 12,646,026 A 4,629,618
O A a@s8adn 7,279,371 7,795,779 A 516,408
648 2T TY 3,609,826 1,554,435 2,055,391
648-02 AHX|EtHEAF+=Y 3,609,826 1,554,435 2,055,391
O =9a(9d7t=ah 2,947,576 1,554,435 1,393,141
O =da(@s8adn 662,250 - 662,250
100 XH= & 0 At - - -
180 S EAtZ _ _ i
181 =M AL ol= - - -
181-01 =MA LA - - -
O %g% XISH X}OH _ _







I

] 20224
TE] 204 RS
L VAR Vs VL B 20224 (£0]|4h 2021 (20]|4h 52 FHIALHE o &k
g A 18,905,605 21,996,240 A 3,090,635
SHAA SIS HLAEMTRB(EHE_HE7I50h 2,947,576 1,554,435 1,393,141
[FA] 22| HAE 30,283 30,283
[Ed) g7 0t 30,283 - 30,283
[CHel] 22lEA 29 30,283 - 30,283 —
(M2 HER2I A (F2[ZALE) 8,876 - 8,876
ME) H8us 9 243 HE 29 21,407 - 21,407
[FAM] AR 7282 E 433,007 433,007
S W2 A LHALRES) 433,007 433,007
(Bl 712 82X 433,007 433,007 ot
M dE2I3H|(71gs2E) 284,487 284,487 =ss
MF 71dg22Y 148,520 - 148,520
SEM] AR =S S2E 2,454,866 995,336 1,459,530
[EH] e HA F=HALRE=S) 2,454,866 995,336 1,459,530
[EHel] E22A K- 2,454,866 995,336 1,459,530
(M%) 1™ 2PH[(EFE) 1,780,763 979,336 801,427 EH3
[MF] 7128 gRFT| 16,000 16,000 -
(ME) AH2IEH(BEE) 658,103 - 658,103
M) o gHITAE o] gItE ALY E 29,420 559,099 A 529,679
P M) ol Mo ZME SO HH|TAIE) 29,420 559,099 A 529,679
[EHel] A E7HE X - 29,420 559,099 A 529,679
ME) AHES 287t |4 9,500 11,000 A 1,500 93
MF LEES REus 7,920 - 7,920
(NS AHEES 2m 12,000 - 12,000
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[EAHE] 20224
[HYTE] 20t RSk
L VAR Vs VL B 20224 (£0]|4h 20213 (20f| ) 52 FHIALHE o &k
BE 7150| ¥=5 Als| 78 (IEAFAH] 047150 8,016,408 12,646,026 A 4,629,618
[EA] AARS AZXA|ME 4,032,912 11,685,733 A 7,652,821
(S ZHEH H A FEAES) 4,032,912 11,685,733 A 7,652,821
[CHel] BEEF2HE Az XAl4 X3 3,816,874 11,685,733 A 7,868,859
[MIF] el RAH(AZEAEE) 1,683,197 7,089,580 A 5,406,383 ojMH|MME|2H
M5 $HeHAH(AZXA|MLE) 109,936 1,768,587 A 1,658,651 (BEH #=AraH)
MF] ZEFEHE AEE RX |22 1,700,729 1,865,643 A 164,914
MF deHs =233 29 302,412 600,625 A 298,213
ME) 2EF2dH Rt 20,600 361,298 A 340,698
2|1 Q0H0LO|ME] AlM XY _ o MH|HME|2Y
[Shel] OOl e Al X| & 216,038 216,038 (RHEX {ErARRIH))
[M£] foHtoto|dE FRetANM 216,038 - 216,038
[FA] o JH|HHE| o] 47t=ALS E 3,273,891 716,800 2,557,091
85 oj o] B2 (o gHIHME) 3,273,891 716,800 2,557,091
[EHel] 7S X - 3,273,891 716,800 2,557,091
[MIF] 2132 FH| (0 JHTAE) 2,883,261 - 2,883,261 o] A H| M MIE| 2
|2 S5 A H | (o M7 S AL E) 82,960 - 82,960 (BEH fI=AGH)
M) o gHIFAE ug 29 287,670 694,300 A 406,630
M5 2Hd elzst 20,000 21,000 A 1,000
[FA] o GH| e M LAEE 113,750 51,120 62,630
[EH] of 90| A7 (o] dH| M) 113,750 51,120 62,630
[EHel] 2 s A7 AY X2 113,750 51,120 62,630 oj MH|MME| S
5] S5 2 B2 | (M LM Ef ) 75,550 - 75,550 (BEH fI=ArGH)
ME] LA Agussd 38,200 51,120 A 12,920
[FAM] | HME dE2HA7PHEA St E A 208,950 192,373 16,577
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1202244
] 204t [CH M
M8/l /MR 20223 (20]4h 20213 (20f| ) 52 FHIALHE o &k
10142273 oFak (O gH| T E) 208,950 192,373 16,577
tRl] Z2gl= et Atg] 71 208,950 192,373 16,577
M7 dE2IgH(sedEHL) 107,226 100,393 6,833
M UeXxd 23 18,730 14,520 4,210
MF 222 29 4,970 5,320 A 350
MEHERR 29 260 - 260 M=
(M5 SEAY 29 12,500 37,450 A 24,950 SEadEa
MEF] ARHER 2 34,640 - 34,640 (B A=A
(M5 AANEALSY 2F 4,000 18,000 A 14,000
[MI&] meiAt 8 7HS K7 A= 11,740 - 11,740
[MI £ TBixt X| 225 Mt 8,390 8,700 A 310
M5 O =2 EEEZE WAL 4,794 5,220 A 426
[MF] F52 & A 1,700 2,770 A 1,070
[FA] o JH|HHE 2ZX2AE 386,905 - 386,905
1 oo B (o gH|T ) 386,905 - 386,905
FR|] FOHOMO| M AxXxstE X|J 386,905 - 386,905
(M%) QI8 R2PH[(AZ X2 PE) 108,776 - 108,776
M) AERIEH (X2 HE) 80,065 - 80,065 (gg;l E&T}%ﬁfl)
M) 2ZXZ2IWRY 167,924 - 167,924
[MF] 2ZXbH A 2,060 - 2,060
[MI5] ZZotzth o| 1,280 - 1,280
ME) dRetdfdez=2YE) 26,800 - 26,800 [ Of’gH|FME2H(X2H)
SHIA O EIIEHA AT F(EHZ_ 0] H T} 662,250 - 662,250
[FAM] §LEAI S HAEHYHME 619,571 - 619,571
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[2IAAE] 20221
AT E] 2L [CHRlE &)
L VAR Vs VL B 20223 (20]4h 20213 (20f| ) 52 FHIALHE o &k
[M&F] A2 ZH|(SE 47,544 15,500 32,044
M&F] 22T A= FRIHE 188,506 192,745 A 4,239
(ME ad2 g2 (EE 2,000 2,000 -
(M BaxdSot2|(SEh 10,000 9,300 700
[M£) Had |2t 2,000 3,000 A 1,000
[MI&] S0LhE S AL 6,000 - 6,000
(M) EAHEE0tAE 4,000 2,500 1,500
ME] A2 F =0 20,000 - 20,000 . .
A EHZS|0|Z 29
M=) 2202 e 5000 - 5000 | et sletyetel
[MF] SR Eetn 4,000 4,700 A 700
M2 HadgssA 3,000 2,000 1,000
[MF] SO|HZZHE 3,000 3,000 -
(M5 AATHE 2,000 3,000 A 1,000
[MF] SEREALYEZREY 10,000 - 10,000
[ME] EAEXE0|1 83 U2 Y 8,000 - 8,000
[MF] L EXASAZ S 3,000 4,000 A 1,000
ME) EadYHtZ2 M E 3,000 - 3,000
[MIF] Al SAtet L 3,000 - 3,000
M2 Erdn|E2sz2 1YW (SEY 30,000 23,000 7,000
[MF] HaHEatsop7tH| 0|(S Eh 27,000 28,800 A 1,800
(M5 @227 M (EEh 3,338 : 133 | Haugsio eEtE) |
[FAM] §adAg= FRIEAEESOY 617,602 242,820 374,782
[EM] H2HeSAY FREALEAYS) 617,602 242,820 374,782
[CHRl] =REAEE2o Y X 617,602 242,820 374,782
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[2IAAE] 20221
[HYTE] 20t RS
L VAR Vs VL B 20223 (20]4h 20213 (20f| ) 52 FHIALHE o &k

(M5 22 EH|(FRE A EE32E) 314,550 - 314,550

M&F] AE2BH (=) 53,764 17,660 36,104

ME] HarH W2 QM) 17,760 30,160 A 12,400

M5 BAER IR 4,500 4,500 -

[ME] BAEXASAEHEE) 4,000 4,000 -

M5 BaESotE|(R7) 12,000 10,000 2,000

[ME] EAEHARK 7| 2+ ) 10,000 10,000 -

[M£] HaE0jCjoj=22(00lH 3,640 4,500 A 860

(M5 202 EH 30,000 - 30,000

[M&] SXI2=0|H 5,700 3,600 2,100

M%) B2 ERsHer2) 12,000 12,300 2300] et sretgcn
[MF] RE|7tF S EEX| 4,700 4,500 200

(M5 2Hd G ALE 4,000 3,600 400

[MF] oH| S A= 2,000 2,000 -

(M5 et 4,300 3,200 1,100

ME] FREAEEOIY Jted 4,000 2,000 2,000

M5 T ZLHE g 9,104 6,400 2,704

ME] St A Hzus 52,900 79,600 A 26,700

M5 EolFHEas 19,200 15,000 4,200

[MIF] 4K MY TSARE 6,000 - 6,000

MF] 71208 MERZ= 10,000 - 10,000

MF] 71297 22 2203 5,000 - 5,000

[M£] Ctz| 88 AH8AE =203 25,000 - 25,000

[MF] LR ENM(FE) 3,484 - 3,484 _
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1202244
] =20f 4t R R
L VAR Vs VL B 20223 (20]4h 20213 (20f| ) 52 FHIALHE o &k
oA HaE R 213,820 137,968 75,852
BN BAHESAY PHRELEAYS) 213,820 137,968 75,852
CHel gad d QA ey 213,820 137,968 75,852
M&F] AE2BEH (E=2h 59,034 44,500 14,534
(M2 HAHEESAE A E 4,320 2,280 2,040
[MIF] A2f = 3,220 1,776 1,444
MF A us s 12,284 5,290 6,994
M dus d=x 27,440 14,990 12,450
M) 9Es #2857t G 7,086 - 7,086
HAdd2sE 2
M) dusgsit 22 13,129 19,248 A 6,119 ‘fzgga? %’-Ii-}.’kfélil?
MF Sus 221 HY 24,650 - 24,650
MF] 2oty 2SIt 34 3,822 - 3,822
[ME] &= ALY 7,500 26,816 A 19,316
[M&F] et 23 5,720 - 5,720
MF) SdEESH2E 25,001 - 25,001
MEF] Had d2otgs sotg| 3,000 3,280 A 280
(M) X9 423t g2 X2 10,000 - 10,000
[MF] EaE d A 7 4,000 - 4,000
(5] PesA) (s 3,614 : 3,614 _
[FAM] HAEAMET HAEEH 527,826 149,580 378,246
| HaEEIAY THEELEAMYT) 527,826 149,580 378,246
o] HadEstszt X 527,826 149,580 378,246
(M%) ¥ 2FH|(HAEEH) 360,525 - 360,525
[MEF] ™2 EH|(EH) 129,100 89,260 39,840
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MEsE=
[2IAAE] 20221
[HYTE] 20t RS
L VAR Vs VL B 20224 (£0]|4h 20213 (20f| ) 52 FHIALHE o &k
[M£] SEHAK -3 7,500 9,000 A 1,500 HAHEESY
[M5] SE£6 0] 9,600 6,000 3,600 (BEA A=A
(M) Fojsg =20 7,680 6,000 1,680
[M&] gAl0] | 2,400 - 2,400
(M2 =5 23t & 2,930 - 2,930
ME) U 5220 REAY st & 4,240 - 4,240
[ME] dReEMM(EH) 3,851 - 3,851 _
[FAM] Ao HAaEE 2,331,694 4,240,353 A 1,908,659
(S HadAT A PEELESH 2,331,694 4,240,353 A 1,908,659
[EHell EaEgs X 2,001,624 3,776,458 A 1,774,834
[MF] QI 2PH|(EaEHE 1,410,871 - 1,410,871
MF HE2IEH[(HAaE) 113,646 33,800 79,846
ME Bad2gelds(=Eah 2,000 3,000 A 1,000
(M) HA AR S A (=T 6,000 5,940 60
[M£] Eadsota| (=22 20,000 19,600 400
ME) Sadg=EH 16,000 - 16,000
[ME] EAEHOXA 7|7+ 2 (F=TEh 10,000 14,000 A 4,000
ME] HardusEtoz 0 2 (A2 90,000 81,200 8,800
(M5 S M Z R = 2,000 2,000 -
M) H2H MM Lo 1,000 990 10
(ME) HadsH SA” Z203 8,000 8,000 -
HardsHa2d
ME] HaEZ oM (=32 6,000 5,030 970 (AR SIEEAIRH])
(M5 #O| S5 A 8,000 7,600 400
M 3hd 318 2,500 2,360 140
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MEsE=
[2IAAE] 20221
[HYTE] 20t RS
L VAR Vs VL B 20224 (£0]|4h 20213 (20f| ) 52 FHIALHE o &k
(M5 A H 2 E T 22| 120,000 120,000 -
[MF]) St E SR 3,000 2,318 682
[M£] X[ 92| HBHE AtTIOf Bt 10,000 10,000 -
M5 BAEE Qe HITEZ 30,000 - 30,000
[ME) §AadFofstorE 20,000 - 20,000
MF] A8 RAZZHE 10,000 - 10,000
(M-S EAEg TS ot7HE 0] 2 G (=2 2 35,840 34,040 1,800
[MF] SHEAHAESEAO| ELS 10,000 - 10,000
[M£] HAH0|2tH 7toF & X = 10,000 - 10,000
[M&] 7IE 222 2,500 - 2,500
[M£] 28| 0|AHz| 10,000 - 10,000
[M&F] RN E~EE) 44,267 3,370,500 A 3,326,233 _
[EHel] 2Zx8F X2 330,070 463,895 A 133,825 PNE P EY
ME) AmZx 2F 330,070 463,895 A 133,825 (BEH fI=AH])
[FAM] Hadsa Al gz g 2,818,586 2,695,013 123,573
[EM] Hads=8a §A AHELE+AE 2,818,586 2,695,013 123,573
[TH2l] FAHOMOIHIE AlE X 2,818,586 2,695,013 123,573 PNE P EY
RS E KR TONEE RIS 69,548 6,600 62,948 (B4R A=)
[M 5] FHOLO|MIE] A|HE RX| 22 2,749,038 2,688,413 60,625
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